HO0—XIVR FykLoH—h

ME . AF—I)L
HO—XIIRADR-BALT FEME : BHRAYE+=HYOA—F
JEEE 58
P [ | P
T A
T\ 77\
L |:rn + H L ,l, <K+\> ,L
L\ L\ |

e
A\
g

a% g | B | pagm | - ° " i
+0/-0.1 +10 | -015 | +03 | =02
CE-HH-SM4 M4X0.7 6.1 05~20 16.0 6.0 6.90 0.50
CE-HH-SM5 M5X0.8 71 05~3.0 200 7.0 8.00 0.50
CE-HH-SM6 M6X1.0 9.1 05~3.0 220 9.0 10.00 0.60
CE-HH-SMS8 M8X1.25 11.1 0.7~3.0 255 11.0 12.00 0.50
g8
RE g | F | gapm | - ° " i
+0/-0.1 +10 | -015 | +03 | =02
CE-HH-LM4 M4X0.7 6.1 05~20 16.0 6.0 9.00 1.00
CE-HH-LM5 M5X0.8 71 0.5~3.0 200 70 10.00 1.00
CE-HH-LM6 M6X1.0 9.1 0.5~3.0 230 9.0 13.00 1.50
CE-HH-LMS8 M8X1.25 11.1 0.7~3.0 26.0 11.0 16.00 1.50
CE-HH-LMS8-L M8X1.25 11.1 3.0~55 285 11.0 16.00 1.50

[\
&> N2F T BRsi
T224-0003 FRIETHERAIX )| Fd1 —4—6 74—L AR« Z—E/L 3F
TEL 045-532-6900 FAX 045-532-6909  http://www.avdelook.co.jp




